A & 0l & AF S E M A
20098 & =0l &k LB A
M sl JleEsS=
M =0|2ET U A2s0l |4
Chelr ARIRIS J|2EE 2 NTIIMEL (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
sZJ=d Jl=E=2= 16,840,621 18, 159,581 21,318,960
= 6,621,750
s 3,834,500
Il 75,000
= 624,563
& 5,684,808
sPll=Es L dE=sg0 84 16,697,071 18,005,051 A 1,307,980
= 6,621,750
as 3,834,500
Il 75,000
= 624,563
& 5,541,258
AEAZ JlsEs Y NEIgEs 10,546,300 10,140,670 405,630
= 5,296,750
as 2,384,500
Il 75,000
= 3,800
& 2,786,250
sEXNTIIE g5 Y M23 FA 955,400 1,295,400 A340,000
307 glz2told 5,000 5,000 0
02 QltFAE=X 5,000 5,000 0
ONMsell=Zd 2 sHEd 34
2,500,000& *23| 5,000
308 AtXISHXI S0l 86,400 32,400 54,000
01 XXSHNBINEXZ 86,400 32,400 54,000
Os2lls AR NYRE
30,0003 30 *6:= 0F*20 2! x30% 32,400
OsZEXNEAY HIt A2 Alad 30,000
02009 &= UHWEM M2 X3
5,000, 0003 167 2 *30% 24,000
403 TXEMSAH201H 864,000 1,258,000 A 394,000
01 XXIESHNE2EEX 864,000 1,258,000 A394,000
OXASs ASEDIHL AL
30,000,000 * 169 2 *30% 144,000
OANZ=sIIsdH E43AEY
150,000, 000& * 164 2 *30% 720,000
dEtdsgy ¥ NEE ATNE MAaBg 603,460 1,267,360 A 663,900
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_ _ PSS
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
308 XXIESHMSOIH 139,660 139,660 0
01 AUXHHMBAdE2XES 139,660 139,660 0
Ood 253 MAX2 417,533,000 *30% 125,260
Odlatd ISEY LSS 4o AlgER
29 3,000,000 *167H 2= *30% 14,400
403 [XEHSA=0lE 463,800 1,127,700 A 663,900
01 XXEHHMA=EX 463,800 1,127,700 A 663,900
O &ty DAY Mags AlY
509,000, 000& *30% 152,700
OgdiEs &H S&SAE 350,000, 0003 *30% 105,000
Ostts S222/(6GAP) 2E8sIt 24X
A AE 200,000,000 *2JH A *30% 120,000
OSSAS(HA) 453 AIHA
167,000, 0003 *30% 50,100
O gdatAlE XI& 120,000, 0003 *30% 36,000
sgel st 54 638,050 577,000 61,050
= 3,800
= 634,250
101 1At 9,700 9,400 300
10 JI2N22ANAsE2+ 9,700 9,400 300
OsgolEsyd gulld o2y 8,820
O=td=s & 880
307 gIz2tol & 407,600 369,350 38,250
= 3,800
= 403,800
02 Ql2tAAMEX 107,600 107,600 0
OR+E=E sEXNTXE HIAE (6012
0f) 100,000
OsEXNcXal2d K& 6,000
= 3,000
= 3,000
O4-Halzd K& 1,600
= 800
& 800
04 QIZtHAER 300,000 261,750 38,250




A sI= JsE2sS=
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_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SECEIEEELIEREES 300,000
308 XXISASOIH 200,500 179,250 21,250
01 XXCSHMBLRES 200,500 179,250 21,250
SENSK 562 X
25,0002 11,0000 x30% 82,500
OERE=ENCNE I4
1,000,000 %2607} I %30% 78,000
OBt 4-HES A&
1,000, 000! * 10074 12 *30% 30,000
OB 4-HAY UHESH XL
20,000, 0002 *50% 10,000
403 XSS KZ0IH 20,250 19,000 1,250
01 XXCSHGESE 20,250 19,000 1,250
OBSL4HalY sZE AEN
4,500,0002! % 157H 2 *30% 20,250
sedlz 2225 53,280 54,280 A1,000
101 QI4Hl 9,000 9,000 0
10 JIZH2ZNER S 9,000 9,000 0
OSZ2sW!arar oL L AE2E 8,190
02003 S 810
308 XHXISHHISOIH 44,280 44,280 0
01 XNASHMBLRES 44,280 44,280 0
OJlg=2 F2EX N
6,0002 2,050 +122 x30% 44,280
MIIE 22 A A 2,675,000 2,408,400 266,600
= 2,600,000
| 75,000
308 KXISASOIH 75,000 0 75,000
| 75,000
N EERCES 75,000 0 75,000
ORASBHEEZ A (WS HI) 75,000
p] 75,000
403 KRGS KH=0IH 2,600,000 2,406,000 194,000
=2 2,600,000
01 XXCSHIESE 2,600,000 2,406,000 194,000
OMIIZBSAIE AL 2,600,000
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sitE SE108% MEHI =4 500,000 404,670 95,330
= 500,000
403 TXIEMSA201H 500,000 404,670 95,330
2 500,000
01 XXM X=2EX 500,000 404,670 95,330
Oste BRN35 ANESX S4 500,000
= 500,000
sy dEgs & 513,000 406,300 106,700
= 500,000
& 13,000
101 elAH] 9,600 0 9,600
2 4,800
= 4,800
10 JIZAH22ASES 9,600 0 9,600
OHE LM HE2XISY
40,0003 »221 %30 x40 = 9,600
= 4,800
< 4,800
201 eI 8,000 0 8,000
= 4,000
& 4,000
01 A2l 8,000 0 8,000
OBHE LM HEIE R0
2,000,008 +25 23| 8,000
= 4,000
= 4,000
202 01t 4,800 0 4,800
= 2,400
& 2,400
01 =3LUWAbl 4,800 0 4,800
OgHE HE o= 4,800
2 2,400
= 2,400
308 AHXIHXMSOIH 487,000 406,300 80,700
= 487,000
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SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 KASHMBLRES 487,000 406,300 80,700
O9s8d dgs A&
974,000, 000& *50% 487,000
= 487,000
405 AHAHS SHI 3,600 0 3,600
=2 1,800
= 1,800
01 ML =ZESFSHI 3,600 0 3,600
Oodadis ¢M WEEH 2 S 3,600
= 1,800
= 1,800
S&s EHFE AlY 900,000 700,000 200,000
= 900,000
403 XXM SA201H 900,000 700,000 200,000
= 900,000
01 XAXESHMA2EE 900,000 700,000 200,000
OSSE=HFEAIY 900,000
= 900,000
SgdEoE 2y 873,500 982,590 A 109,090
= 796,750
== 76,750
101 Q14| 10,000 10,000 0
2 5,000
= 5,000
10 JIZHZ22XNsSES 10,000 10,000 0
OOE = BMsSHE 29 208 X
< 10,000
= 5,000
= 5,000
201 B9y 31,000 26,000 5,000
= 15,500
& 15,500
01 At222/d| 31,000 26,000 5,000
ORSEIIS X2 H = 10,000
= 5,000
o= 5,000
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2N SYIIER )23
By s0)|523 2 250 84
ol AZXES J|2E3 Y NTIIBEY (S5 &)
_ _ MNuE o
SM-EH . C(BH) - HRAY - B2 0 Ak o4 0 At of Hlus2
308 NXIHHSOIH = 720,000
01 XXEHHBLEXS 720,000 834,590 A 114,590
OsgdEeold 2d Al XA 720,000
= 720,000
SEXCIIBEA 2,234,500 1,829,000 405,500
z 2,234,500
403 XXIEHSA201H 2,234,500 1,829,000 405,500
s 2,234,500
01 XXSHHA2EX 2,234,500 1,829,000 405,500
OsEXNEo|gtxd 2,234,500
2 2,234,500
sgll=2SAMe 8435 XI& 450,110 215,670 234,440
201 LEHRHH| 335,000 146,820 188,180
01 AtS2cldl 50,000 59,420 N9,420
OBYs2IlE 100EA BT 2
20,000& *1,000% 20,000
OBYs2IlE 1008 JIE#A 222 A
= 1,000, 000& x5& *22] 10,000
OBYs20lE 1008 JIE#A =2 2|
1,000,000& 102l 10,000
O=E=2Jl= 1004 JIgdA M= 10,000
03 #At2EH| 285,000 87,400 197,600
OsEUSMN AU 10,000
OBSANL HAZE 200,000
OsE2sug T2 Ises N 15,000
OSEANEILANE MIHE 10,000
02009 se2=sSUH=H M=l 50,000
203 HEF=4H 4,800 4,800 0
03 AHMFAHRFAH 4,800 4,800 0
OslIeE23 Y25 2,400
OseloEi S8XE 2,400
206 TH=HI 13,000 11,000 2,000
01 M=z 3,000 11,000 2,000
OgEZE T2HME 27 WU
1,000,008 *54! 5,000
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OMElEs s M=H| 10,0003 *200H 2,000
O&F=48d723 UWEKIAUOl MH=b| 3,000
Osgll= s2d8AIZ HEH| 3,000
301 et Aa= 50,800 50,800 0
10 AR HIBAZ 50,800 50,800 0
OSSN n= 26,000
OF-1i E=FaamE= 16,000
OMEINHE D= 8,800
308 AXIEHSOIE 43,000 0 43,000
01 XXNHHBIALZXZ 43,000 0 43,000
OsZEXNEAMY =& 43,000
405 THaHE S| 3,510 2,250 1,260
01 XML ESFSHI 1,510 2,250 ANT40
Oonsg LtE= 72¢ 1,510
02 T=MFLHI 2,000 0 2,000
Osdastusa =472 10,000 200 2,000
NSESAJAS IR AN 150,000 0 150,000
rag 150,000
403 XXIEHHMSA=20lH 150,000 0 150,000
g 150,000
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OX=geds A=)t At
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g 150,000
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= 619,295
= 670,500
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= 619,295
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2 20,000
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= 280,000
IR EEREEES 280,000 276,550 3,450
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. AL AL
2N sg8)=3 Jl=Es=
M sg)|lsE2 2 M=o 'Y

r

M

Crol: ZEME RENY N (crelzg)
_ _ _ MEc
SH-EFHHA(FA) - NIRAE - BES e @}\_FOH Hlws2
307 BI2H0IE 17,000 14,000 3,000
04 SUBAEE 7,000 14,000 3,000
OMEIH A 5(324) 17,000
308 XHEIEHH 120,000 121,600 1,600
IR ERE 120,000 121,600 21,600
OMEBHLE UHE A7 RAXE
2,500, 0002 * 1674 4 *30% 12,000
OMEHHE BT X
25,000 %8, 00001+ 30% 60,000
Os4EINE WSO A
5,000, 0002 * 1674  *30% 24,000
OSZ02801E ABEeI|E DAY
5,000, 0002 * 1674 4 *30% 24,000
203 TXSHS K0 205,500 258,000 52,500
01 NASANERE 205,500 258,000 52,500
ONVASOIE HESADDY MBS Al
15,000, 00021 x4} 2 <30% 18,000
ONVAS0IE MES Al
10,000, 0002 * 1674  x30% 48,000
onESA HEE 5,000, 0002 +474 4 =30% 6.000
OsEASHNL A
50,000, 000! x4 7} 4 x30% 60,000
0T BME BB MAKE
100,000, 0002 <20} 2 <30% 60,000
OREIB( Z0)AES Al
15,000, 00021 <37} 2 <30% 13,500
AU mEME 75,000 329,000 £254,000
308 XA 30,000 30,000 0
IREERE 30,000 30,000 0
Osxe o 8 20w 29
10,000, 0002 * 1074 & *30% 30,000
203 TXISHSKH=0| 45,000 239,000 £ 194,000
01 NASANERE 75,000 239,000 A~ 194,000
OSOITALD
8,125, 0002 * 1674 4 *30% 39,000
OsxeRE
10,000, 0002 %20} 2 £30% 6.000
sEHE2 & 53,000 153,000 £100,000
07 S0 5,000 5,000 0
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04 OI2tSHAIE X 5,000 5,000 0
Ozt sEz22NEg T&aA=H
100, 000& *25H *23] 5,000
403 XXISHMSKHE0lH 48,000 48,000 0
01 XXESHA2EEX 48,000 48,000 0
O=sESSME ASHE
5,000,000& * 160 A~ *30% 24,000
Os=idE sitsd
5,000, 000& 16 2~ *30% 24,000
SEAHLH 02 300,000 975,000 675,000
= 300,000
403 XXISHHSA20|H 300,000 975,000 675,000
= 300,000
01 XXESXMA2EEX 300,000 975,000 675,000
Os&Edd &0 84 600,000, 000& *50% 300,000
= 300,000
SENAASF 470,000 365,500 104,500
= 460,000
& 10,000
201 2Bt2AH| 2,000 4,000 A 2,000
= 1,000
= 1,000
03 #AI2HHI 2,000 4,000 A2,000
OMEZE20Y AUBE 2EAE HA 2,000
= 1,000
o= 1,000
202 O4Hl 8,000 21,000 A 13,000
= 4,000
= 4,000
01 =2WAbI 5,000 14,000 29,000
ONES=Z0Y JAoze2s BHAE g2
=& 5,000
= 2,500
= 2,500
03 =ALLLR0AHI 3,000 7,000 A 4,000
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= 1,500
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= 5,000
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S5 THOH Ol g 190,000 85,000 105,000
= 185,000
= 5,000
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